EARAZROREIERT — 2 N—XBISY —F 201952890 (£) 20[@1{A&E4H

P C2—-35% C2 H45%4mkE ‘ [xz] & ‘ [eErsm] — | 4 (&) 13000 RE
[AE£] 1%&:210,000”M ~ 2#%:63,000” ~ 37%&:21,000 ™  43%&:13,000 M 53 :8,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HPEA :25. -1-1- . — HHERAE (1£8)
i o |7O=-70ZR b 6 o 1(2_5)1 1-1-1-1 | 38.9 1 (4_825) SR "
RiHYIRG4 TR BNYTHTTN— b 75 Ris
e 48 | TTEH 1:25.7 3-4-3-3 |39.3| — 2 41 | KIEBER (E8)
2(5/5 ’V??‘J7Z 56.0 3) (-3) EREE
R—ATA— BiArz—% FER2 Y K
S RS A 14 | RIARIK 1:26.1 2-2-2-2 | 39.8| — 6 480 | BBEX (£EB)
3l7|7| ¥V N g 56.3 2 (-12) Eﬁﬁﬁ .
LN—HNE BTAT4 94 —> =B
SRS st o4 | WAESEE 1:26.2 7-5-6-5 |39.5| — 5 449 | FRIIBE (EH)
4l8lg| 7V /U 54.0 (£ E) 7) (ﬁ)ﬁEF“WZ
R:dr—3YF7> BG4I -NV 1 XEY)T7—L
. HAME 126. -3-4- . — HETE (£8)
5 11| *EV—01—-> i 5 % 1(236)8 4-3-4-4 | 40.2 7 (4_122) ﬁﬁ;}:ﬁg 3
LAy )a—H— B:F+vOlLTIKR— HE B’X
LA 4 4 | EAER 1:27.3 9-9-9-7 [39.1| — 9 428 | KEAEX (£E)
EE 6 YIJLAHY 54.0 (2 1/2) (+1) =
L1400 BNz —E— pliEszie]
.o R . —7-5- — TFRE (EH)
JlelglLy ki r=2 i o6 ol 1.(217>.5 6-7-5-6 | 40.9 4 <4+426) jieed g’
L:Yw IRy y b Bi7HAFIZa J—HrTr—L
N N N BEE— . 87— — FHAEEAE (£%)
3 4| Ko=T0 > 5| 28 (17.277% 8-8-7-9 | 39.9 3 :3:)35) gt ol
LTVBAZIL R B:Id o EdHTT— I
2y 7 # 4 | HKIA 1:27.6 5-6-8-8 |40.3| — 8 436 | FFREPAIE (1£%)
N . BEEEEY &0 o Co |
LTANWNTTFY— Bier2—N-I=— ERS
® I—F—@EBIERL
13—7F— 2,7,5,1,3,9,8,4,6
Ao=5"= 2,7,1,5,8,3,9,4,6
3T—7— 2,7,5,1,9,8,4,3,6
43—+ — 2,7,5,1,8,9,6,3,4
[ RN
-y 2 2408 | | 71 R 2-5 170 | | # = 2-5 250 | | 3EfE 2-5-7 1,480
# B 2 1004 2-7 710H B E 2-5 280M EE 2-5-7 4,930
5 120 5-7 810M B H 2-5 610M
7 290/

ABICOVWTRDTEEERROODE. TR LIV,



